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01. fr=fcifad & & =1 wk wwm afee fsmar 78 272 / Which of the following is not a fusion welding

process?

(A) FEeE g AfEET / Electron beam welding

(B) gaﬁa e =9 o Afce/ Magnetic impelled arc butt welding
(C) <Ie¥ 919 dfesT / Submerged arc welding

(D) wNv ger=W afesT/Friction stir welding

02. fi=fafga # & s-#f fogf Frimor Tefies &2 / Which of the following is a distortion control

technique?

(A) dEs JATHAYT/ Weld sequencing

(B) qfaf gﬂﬁ / Pre bending
(C) @Al (A) 3R (B)/Both (A) and (B)
(D) 3SHHH ¥ IS & / None of the above

03. fr=faRad ¥ & &I W1 %99 G 27 / Which of the following statements is true?
(A) UfeH S 512 Sitg ¥ e T & B/ Fillet joint is stronger than butt joint
(B) e Sirg ufgehr Sits & 14.3 AT A & / Butt joint is 14.3 times stronger than fillet joint
(C) vl Sirg 3R &ifoh Sis WWH ¥4 & AT &1d & / Fillet joint and butt joint are equally strong
(D) SYUTH H & IS T8 / None of the above

04. tw faw arg it afcen & AfcsT & deiw & Wt Fe T 99 i/ Select the correct statement with

respect to welding of ferrous alloy

(A) @A gt # gfy & wy deefaferdt g St @ / Weldability increases with increase in

Carbon content

(B) @ wmft ¥ gfg & @iy Icfeferdt we Wt § / Weldability decreases with increase in

Carbon content

(C) deefuferdt e amaft w ik 8 et ® / A Weldability does not depend on Carbon content
(D) e iy arged # It TxAT § e & BT 8 / Ferrous alloys do not contain Carbon in

their composition
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05. fm=faiRad # & for wiskan & afcsT @1 IfEeE W EWa 27 / In which of the following processes,

autogenous mode of welding is possible?
(A) v arg = afesT/ Shielded Metal Arc Welding

(B) urg 31fska M afeew / Metal Inert Gas Welding
(C) 3R W AfeET / Electron Beam Welding
(D) @9y = 3fEET / Submerged Arc Welding

06. f=fuflaa & @ fem ffy & 3fcen § wEa fedae i wft & ST ? / Which of the following

conditions will results in lack of fusion defect in welding?

(A) %" Id9H / Lower current

(B) 3= afeen 7ifd / Higher welding speed
(C) <Y THT 3G / Lower heat input

(D) 39UH @t/ All of the above

07. it ameh afceT wfsean #, fr=fafaa & @ =9 @1 99 98 87/ In a DC arc welding process, which

of the following statements is true?

(A) TR i # 2t mff 2 / Positive terminal has more heat
(B) Tohrrenss Zffaer o ifdres miff 8 / Negative terminal has more heat

(C) YUSKIcHS 3R FhrreAs fifrer § gam ot B B / Positive and negative terminals have
equal heat

(D) T yeftorar & TaA & / Heat is independent of polarity

08. fo=fafea & @ forw wfhar A sea=nfera afee™ @wa & 87 / In which of the following processes,

hand-held manual welding is not possible?

(A) TS AfesT AT / MIG welding process
(B) 3oiee™ it afeeT 9fskan / Electron beam welding process

(C) wor afeeT wfshan / Laser welding process
(D) 39k wft ufskanedl ¥ ¥9a B/ Possible in all the above mentioned processes
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09. wrft it Jesfafedl gea w9 & ek et 8 / Weldability of a material predominantly depends upon

10.

11.

12.

13.

(A) SHITI GHSE / Chromium equivalent
(B) Tiat wHs& / Nickel equivalent

© ShIsi THHET / Carbon equivalent

(D) STk H & I T / None of the above

45 A % T9M, 15 V & dieest 3 45 mm/min &I afeet @ifd & @ siduesey (Semsst) afegn

wishar & fag mff gage A TFT * / Calculate the heat input for a GTAW (TIG) welding process
with current of 45 A, Voltage of 15 V and welding speed of 45 mm/min

(A) 15 J/mm (B) 900 J/mm
(C) 30.3 kJ/mm (D) 15 kJ/mm

frafafaa # @ & €t wira e $i 3F[dT % I & FEa @7 / Which of the following processes

is associated to onion rings defect?

(A) =NV gerEre afesT / Friction stir welding
(B) 3ot TAT AfesT / Electro slag welding

(C) wurg ffska fa afee (Shwieesey) / Metal inert gas welding (GMAW)
(D) wAHT 9 3feT / Plasma arc welding

Fafafes § @ fora goft i afcen gfsrar § o |9 1 Afrean wifts o9 a1 2? /Which of the

following categories of welding process has maximum power density of heat source?

(A) T afesm ufshat / Gas welding processes

(B) 3k dfcem ufshar / Arc welding processes

(c) dfim afesm ufshan / Beam welding processes

(D) g feurfa afeeT afsean /7 Solid state welding processes

s SIS T T 991 BiaT @7 / What is the melting point of pure Tungsten?

(A) 1536°C (B) 2635°C
(C) 3422°C (D) 928°C
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14. Tgefiam afee & uA Sfeflstr ¥ s=T ST 8 / Oxidation during Titanium welding is avoided
through

(A) TSR ST 9t g S9E & I AfesT gRT / Welding inside a glove box with inert
atmosphere

(B) ufarur it 1t A w1 G Hek / Using shielding and trailing gas
(C) THI (A) 3 (B) / Both (A) and (B)
(D) 39k H F HI$ T2 / None of the above

15. ffafaa § @ fhg aca o1 99ca W@ %9 87 / Which of the following elements has the lowest

density?
(A) ©/Lead (B) fifim / Magnesium
(C) eI/ Titanium (D) ToHi=m / Aluminum

16. fr=fafed 4 & == @ afee vk @@ivm o wrfos A& gk 82 / Which of the following

welding process combinations is a hybrid welding process?
(A) SMAW + GTAW (TIG)

(B) SMAW + GMAW (MIG)

(C) <R afesT / Laser welding + GTAW (TIG)

(D) SAW + GTAW (TIG)

17.  GTAW (TIG) 3fceT Sfshar #, SSAEIg i &l 3991 s Fefifad § @ frg Aw A sarsrar 27/
In GTAW (TIG) welding process, which of the following defects is avoided by using downslope

current?
(A) e &t wH / Lack of fusion (B) WXy / Porosity
(C) TSal Q1Y / Crater defects (D) TR El,'ﬂ'a'c‘i / Tungsten intrusion

18. f=faiRed # & =9 18 #ea T dfeet ¥ Aedd ZOH 1 alis T8l 87 / Which of the following is

not a mode of metal transfer in Gas Metal Arc Welding?
(A) Ry ';’i’&l"-FU Resistance transfer

(B) Wﬁg?ﬂ A% / Globular transfer

(C) T ZEwL / Spray transfer

(D) e wfdfen ZME% / Short circuiting transfer
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19.  &RT &1 ST GTAW (TIG) afceT ufsrn # soiwdie % &9 # fohar Sirar @ =4ifs $&@h / Tungsten

20,

21.

22:

23.

is used as electrode in GTAW (TIG) welding process because of its

(A) 3= uqcd / High density

(B) 3= a9 =Tetehdl / High thermal conductivity
(C) = Taga =mereRal / High electrical conductivity
(D) 3= T / High melting point

IS G T 27 / What is weld efficiency?

(A) des i qrea /3Ty Tl i dTeRd / Strength of the weld / Strength of the base material

(B) R Tl Y arera/ e it d@rehd / Strength of the base material / Strength of the weld

(C) des I HeRar/ MR TR I F3AT / Hardness of the weld / Hardness of the base

material :
(D) 3TuR "l it H3AT/AeS 6 HIRAT / Hardness of the base material / Hardness of the weld

FT FHet i S| EEh‘Ié Ea) %? / What is the Sl unit of heat energy?
(A) F/ Calorie (B) hfeed / Kelvin
(C) SIe1/ Joule (D) 49/ Watt

e foraet flisemg 82 / Monel is an alloy of
(A) et 3R d1& / Nickel and Copper (B) e 3R &1/ Copper and Tin
(C) e 3R ST/ Copper and Zinc (D) TRt 3R STET / Nickel and Zinc

ASME 1 Taaid 2 / ASME stands for

(A) T Gredt 3% Mfmew SSifFafin / American Society of Materials Engineering
(B) it AEEd i Aokt fetiicd / American Society of Mechanical Elements
(C) oM TR 7% AehfHehat Sefii-aiiT / American Society of Mechanical Engineers
(D) Mt whe 36 Aefmew ST/ American School of Materials Engineering
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24.

25.

26.

2T

fefaflaa # @ = @1 degAfis wEdid fafr 87 7/ Which of the following is a volumetric NDT

method?

(A) Ferehra o7 UL / Magnetic particle testing
(B) 3fegrEi=eh qlerr / Ultrasonic testing

(C) =18 YA qdi&vT / Dye penetrant testing

(D) 39Ut H & 1S 78l / None of the above

ot T ThE 1 ST F0h efiiad # & e wher w1 weor 7€ R S aew /7 / Which

of the following steels cannot be tested using magnetic particle testing?

(A) IRfAfes waeta e / Austenitic stainless steel

(B) Wit Raw e / Ferritic stainless steel

(C) HI3es &Il / Mild steel

(D) o fay ¢1d / Steel alloys cannot tested using magnetic particle testing

g urg 9 Afeen #, 9gH gad1 2 / In Gas Metal Arc Welding, the polarity used is

(A) I TAUH 3oaLS RIS (RHIFEA) / Direct Current Electrode Negative (DCEN)
(B) YcI& SAHM oidde TehRIeAs (SIEISHY) / Direct Current Electrode Positive (DCEP)
(C) waaTadt gr (THt) / Alternating Current (AC)

(D) gt Tk HEeaqul =X & @/ Polarity is not an importance variable

g TRA AT GTAW (TIG) AT wfshan W ARere TRA & a7 s0agie Hl wrafiswar § ot 2
Tifr 3Ehl S8 ¥ / Electrodes made of Ceriated Tungsten is preferred over pure Tungsten for
GTAW (TIG) welding process because of its

(A) SER FAFLH 3casi / Better electron emissivity
(B) I IgT &/ Current carrying capacity

(C) HQEIUT =1 gfeiYr / Resistance to contamination
(D) W Tt/ All of the above
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28.

20.

30.

31.

32.

33.

E7018 3oiagIs I =Iad q=aeT ehd & / Minimum tensile strength of E7018 electrode is

(A) 70 psi (0.482 MPa) (B) 700 psi (4.82 MPa)
(C) 7,000 psi (48.2 MPa) (D) 70,000 psi (482 MPa)

Fafafea & @ form gfsrar o S fmm wifie 82 7/ Which of the following processes involves
capillary action?

(A) 3feEm/ Welding (B) f#T/ Brazing
(C) SFETIZT/ Overlaying (D) ®iesiT/ Soldering

T FTeTehdT <t 3RS I | 87 / What is the unit of thermal conductivity?

(A)  JIm/K (B) W/m/K
(C) W-K/m (D) J-K/m

=% Wde wlewr g fFmfefaa § & #9 @r @ Ruifa fFan s wwar 82 / Which of the following

defects can be determined by dye penetrant testing?

(A) TSI R / Embedded cracks (B) w=SE &g / Embedded pores
(C) 3heX S / Crater defects (D) Tl % / Piping defects

Frefafea @ @ <9 @ yfFn o fRr-aieews afis Ta &1 ST 1@ 22 / Which of the following

processes uses a constant-voltage power source?

(A) g Hea 3T 3fe8T / Gas Metal Arc Welding
(B) IaH g 1% afee/ Flux cored Arc Welding
(C) SemH 3T AfesT / Submerged Arc Welding
(D) 39k |xft / All of the above

Toreea el o it gwifar 8 / BCC in crystal lattice denotes
(A) I Hfgd B/ Body Centered Cubic  (B) 3TH fgd ¥4 / Base Centered Cubic

(C) TR &g ¥F / Body Closed Cubic (D) STY &g ¥4 / Base Closed Cubic
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34. FIS IS HIfET 1 &A1 BT 2 / Rutile electrode coating is made of
(A) Tafersm sfrearse / Silicon oxide
(B) AR 3fedT$s / Magnesium oxide
(C) <rsfam SferaTss / Titanium oxide
(D) U@ IHTFETSE / Ferrous oxide

35. fmfafea # & fra aea 1 oS Te® %W g1 87 / Which of the following elements has lowest
melting point?

(A) WS/ Lead (B) T / Copper
(C) uega / Aluminum (D) #ferad / Gallium

36. @M= 3= i 91t e § Wi & / Common High Speed Steel contains
(A) 18% TR, 4% Hifiad, 1% SAf$T7 / 18% Tungsten, 4% Chromium, 1% Vanadium
(B) 18% TR, 4% ST, 1% HITHIH / 18% Tungsten, 4% Vanadium, 1% Chromium
(C) 18% ShITH, 4% TR, 1% If$aH / 18% Chromium, 4% Tungsten 1% Vanadium
(D) 18% I, 4% Afeam, 1% TR 1 18% Chromium, 4% Vanadium, 1% Tungsten

37. 3oura Ty angenl # Wew 3R HEHRRE B / Sulphur and Phosphorous in steel alloys are
(A) =HH AT dcd / Low melting point elements
(B) 3= T ded / High melting point elements
(C) TS T 9T dcd / Strengthening elements

(D) JERIVT e / Precipitation elements

38. ufufeet g w1 smuifss ¥ @1 87 / What is the molecular formula of Acetylene gas?

(A) CaHg (B) CHq
(C) CiH. (D) CzHs
10 QpHw eambeafl ,rmiFs fimeiar 2 Hgio eueTrsd/
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39. THT " 1w gad qidl &/ Creep phenomenon is more predominant in

40.

41.

42,

43.

(A) = 99U / Low temperature

(B) 3= dMHH / High temperature

(C) =k FIfET/ Cyclic loading

(D) ®TEEINA FTaTaRvl / Hydrogen environment

ST 2/ Inconel is a

(A) et s % 91g / Nickel-based alloy

(B) whaTee MuTiia fii% 4T / Cobalt-based alloy
(C) &t amaTita 4% 91 / Zinc-based alloy

(D) A 3muTia 3% a1g / Tungsten-based alloy

o} WATfeess "eeh! it dfcen & fog Fafefaa & @ fora afsman =0 ge@ @1ftes sqam fear s 22/

Which of the following processes is most commonly used for welding of thermo plastic
components?

(A) HgsH! At AfeET / Micro TIG welding

(B) ®Efers afe™ / Hybrid Welding

(c) ot afesT / Resistance welding

(D) regEifIs afeeT / Ultrasonic welding

TIG afee wiear #, f=fafea § @ g gaar & siumrasy T8l 83 &t 27 / In TIG welding

process, which of the following polarities results in deeper penetration?
(A) "g& FAAH Q@IT@E ThlcH<h / Direct Current Electrode Negative

(B) WcIE SdUH JeiggS WhHIIcHS / Direct Current Electrode Positive
(C) dfeds IdH™ / Alternating current
(D) wa gt § WA 7 / Penetration is independent of polarity

dgehl Ush ‘% / Tempering is a

(A) FH T UfsHAT/ Case hardening process

(B) Ut Sfshar & Heaw F / Through hardening process
(C) ddE T TEd kAT / Stress relieving process

(D) TAISERT "fshaT / Anodizing process
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44.

45,

486.

47.

48.

49.

PQR 1 #41 37 87 / What does PQR stand for?

(A) wfsear Frgar &€ 7 Procedure Qualification Record
(B) wif awarar f&hTE / Process Qualification Record

(C) wfskar Argar fare / Procedure Qualification Report
(D) wTfer v gar fate / Process Qualification Report

E7018 3aiagie % T 394 & / E7018 electrode is suitable for

(A) Fael Mage fufd / Overhead position only

(B) Sad gaad f&Ifd / Flat position only

(C) wwaw iR &fdst feufd / Flat and horizontal positions

(D) &t fefe / All positions

Ffaflga § @ 1 @1 91g fewuRs TRA oagis ¥ ST ded & &9 ° 399 &1 T St 87/

Which of the following metal oxides is not used as doping element in Tungsten electrodes?
(A) NIy 3{T=TES / Thorium oxide (B) @ftam frese / Cerium oxide

(C) Ucgffay A / Aluminum oxide (D) 9= 3TeTSS / Lanthanum oxide
® T RET F @I GTAW (TIG) afeeT sawre 3 &1 2 / GTAW (TIG) welding electrodes

with green color coding indicates
(A) 2% NfFTE TR/ 2% thoriated Tungsten

(B) g T®A/Pure Tungsten
(C) 1% ANf@es T/ 1% thoriated Tungsten
(D) TepRee TR/ Zirconated Tungsten

afeeT ufsrn & fou f=fefas & @ fog sor ft o= 1 399 fomar ST@m? 7 Which of the

following forms of energy shall be used for a welding process?
(A) Tt St / Light energy (B) &®H1 &l / Heat energy

(C) et it / Sound energy (D) 39UH G+t / All of the above

goFgH s afee # 3 STt 8 / Electron beam welding is carried out in
(A) 9fEsft aTaEReT / Ambient atmosphere  (B)  fAfSsar ararewor / Inert atmosphere
(C) fafa amamERoT / Vacuum atmosphere (D) 3= qa1d dIdreRvl / High pressure atmosphere

12
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51.

52.

53.

54.

565.

afee qele Red afeen st = e R gdfe F =il it gamn S R, FEan 8 / The

welding technique whereby the welding tool is rotated around a static work piece is called

(A) =& afegT / Orbital welding (B) uEW afeem / Planetary welding
(C) wmf=a afes/ Co-ordinated welding (D) Uelt afes™ / Rotary welding

7 % & = 0 YR 1 Row e TE 87 / Which of the following is not a type of Stainless steel?
(A) IIRfAfeE wAGE e / Austenitic stainless steel

(B) e Ve Wil / Martensitic stainless steel

(C) WRfew wacw Ve / Ferritic stainless steel

(D) IIHTES TAGH el / Eutectoid stainless steel

SR ¥ wre i Afrhaw gemsierar 8 / Maximum solubility of Carbon in Iron is

(A) 6.67% (B) 2%
(C) 4.67% (D) 66.7%

RN SREH T ITANT 34T W B / Flash-back arrestors are used in
(A) GTAW (TIG) dfegT/ GTAW (TIG) welding

(B) GMAW 3feet/ GMAW welding

(C) 7w afeen/ Gas welding

(D) SeHA e afeem / Submerged arc welding

frafafea & & fe fa &1 3w GMAW vl & afweror & forg =&f fmam smar 272 / Which of the
following gases is not used for shielding in GMAW process?

(A) e ST§ SFEETSS / Carbon-di-oxide

(B) HTEZISH / Nitrogen

(C) </ Argon

(D) AT + e 13 ATHATES / Argon + Carbon-di-oxide

des & Usamnfees qieawr & forg 5 oo =1 3w fman St 82 /7 Which rays are used for

radiographic testing of weldments?
(A) 7T {01 / Alpha rays (B) sfter fortul / Beta rays |
(C) AT foAtuT / Gamma rays (D) S Tl / Delta rays
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56. wH E g1q T i‘ﬁ T shfehT &7 R '5:1?|T %i Delayed cracking in a weld metal is caused because of

57.

58.

59.

60.

(A) gfera O,/ Dissolved O, (B) Hferd CO,/ Dissolved CO,
(C) g%m H,/ Dissolved Hz (D) g‘%ﬁ N,/ Dissolved N,

3RS I 9% W o HH H TR ST & / Baking of electrodes is carried out in order to
(A) ST 8T © / Remove rust (B) Tt & T / Remove moisture
(C) STAFar H ?{ﬁg’l Increase conductivity (D) desfaferd] 7 qf.?;f Increase weldability

F=afafaa & @ =99 @1 %o @& 8? / Which of the following statements is correct?

(A) 6G f&fe & Ay Sest wxft ugl W o = WHhat & / Welder qualified in 6G position can weld
in all positions
(B) 6G f&ufy & g dest @t ugl | aAfeeT 7& +X wehar & / Welder qualified in 6G position

cannot welding in all positions

(C) 8G feufa # I dcest wft uei W 3o X TS & / Welder qualified in 8G position can weld
in all positions

(D) sc T o gy et @t ugl W dee 7E 9 Ghal & / Welder qualified in 8G position cannot

welding in all positions

H = I’RT <l & ®9 ¥ ST ST 8 / H = I’RT is known as
(A) S & d99 I 991 / Boyles law of heating

(B) S T araA =l 4 / Joules law of heating

(C) =9 1 a9 1 =™ / Ohms law of heating

(D) =Ted 1 A9 T =W / Charles law of heating

us s H, fefafaa & & =9 @1 w99 98 87 / In an atom, which of the following statements is
correct?

(A) A 3R -'{gfﬂ F =R 3R E?Hfﬁ k&l / Electrons orbit around protons and neutrons
(B) sééfiﬂ SIS A & I 3R WM & / Protons orbit around electrons and neutrons
(C) M R SAFHl & IR AR :él;‘{ﬁ <h&T / Neutrons orbit around protons and electrons
(D) 1S +ft s T & 2 / None of the statements is correct
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